
 
Cód. Material  Descrição Material  Unidade   Estoque  

6011292  PO ABRASIVO CARBO OX ALUM G150  SÃO FRANCISCO  11 

4000174  ACOPLAMENTO ELAST 270NM 7100RPM  SÃO FRANCISCO  2 

4019863  CAPA ACOPLAMENTO STEELFLEX F 3  SÃO FRANCISCO  4 

4000195  ACOPLAMENTO PISTAO EMBOLO ACO 219 SONDA  SÃO FRANCISCO  1 

4002401  BUCHA ACOPL ELAST AMERIDRIVE D5D6D7  SÃO FRANCISCO  20 

4011881  LUVA BORR 30X50X50MM  SÃO FRANCISCO  10 

6010128  PARAFUSO SXT GR2 3/16X3" UNC  SÃO FRANCISCO  573 

6024929  PARAFUSO SXT 10.9 14X55MM MA  SÃO FRANCISCO  10 

4100493  PARAFUSO CIL ALL GRB8 8X65MM  SÃO FRANCISCO  10 

6016265  PARAFUSO CH SXT INT AI304 8X50MM  SÃO FRANCISCO  26 

6036606  PARAFUSO SXT GR5 7/16X2" UNF  SÃO FRANCISCO  10 

6009302  PARAFUSO FEN ACP1020 5/16X1.1/2  SÃO FRANCISCO  5 

6024727  BUCHA AI304 5.1/2X3.1/2" 500MM  SÃO FRANCISCO  0,5 

6003243  BUCHA AI304 114,3X76,2MM 500MM  SÃO FRANCISCO  1 

6002395  BARRA SXT LT C36000 LAM 1/2"  SÃO FRANCISCO  2,833 

4019577  SUPORTE ESQ MAUSA P650  SÃO FRANCISCO  1 

4024503  KIT REPARO NBR 60X47X6,35MM VETEK  SÃO FRANCISCO  2 

4013904  PEDAL ELETR ACION CONTATO REXROTH PK1  SÃO FRANCISCO  2 

4003581  CANALETA PERF 19X38MM SISA SRS1658P  SÃO FRANCISCO  36 

4039550  CURVA ELETROC HOR AC 90º 100X300MM  SÃO FRANCISCO  2 

4010763  ISOLADOR BUJAO PREMIX 60X75MM 1/2"  SÃO FRANCISCO  4 

4006909  CURVA 90º LG RPVC 1.1/2" BSP PT  SÃO FRANCISCO  29 

4006903  CURVA ELETROD PVC 90º 1" BSP  SÃO FRANCISCO  26 

4012013  LUVA PVC RIG PR 1.1/2" BSP  SÃO FRANCISCO  24 

4012015  LUVA PVC RIG PR 3/4" BSP  SÃO FRANCISCO  42 

4027589  REGISTRO FEM TURBIMAQ 8580814  SÃO FRANCISCO  11 

4027586  UNIAO TURBIMAQ 8580821  SÃO FRANCISCO  32 

6005248  COTOVELO MC90 NPT 1/4" B124 1/4"  SÃO FRANCISCO  52 

4074498  UNIAO MAC UMA TURBIMAQ 8580815  SÃO FRANCISCO  14 

4027585  UNIAO TURBIMAQ 8580819  SÃO FRANCISCO  16 

6032499  TEE MAC CENT GIR NORGREN C24670628  SÃO FRANCISCO  50 

6005223  COTOVELO LATAO 90X1/2NPT MANG 1/2" PK  SÃO FRANCISCO  12 

6014320  TE COMPR IGUAL NPT 7/16" LT360  SÃO FRANCISCO  5 

6006979  ZZINSERTO TUBO STD LT 1/4"  SÃO FRANCISCO  40 

8029832  NIPLE SC 305449  SÃO FRANCISCO  1 

6006986  ZZINSERTO TUBO STD LT 3/8"  SÃO FRANCISCO  50 

6028501  COTOVELO MC90 UNF 1/4" PBT 1/4"  SÃO FRANCISCO  4 

4094398  CARTAO SD 128KB  SÃO FRANCISCO  1 

8015189  ZZCORREIA TRANSM V GATES 7356PO  SÃO FRANCISCO  4 

4005995  CORREIA TRANSM LAM 3X5/8 08LN  SÃO FRANCISCO  105,5 

4080245  CORREIA TRANS V DENTADA C 105  SÃO FRANCISCO  18 

4005939  CORREIA LAM 3/4X4" S/LONA  SÃO FRANCISCO  15 

4112922  CORREIA TRANS V LISA 3/B 63  SÃO FRANCISCO  2 

4006177  CORREIA TRANS V LISA B 26  SÃO FRANCISCO  20 



 
8018890  ENGRENAGEM DMB 400050701001  SÃO FRANCISCO  2 

8044351  TERMINAL QUADR MAIOR 28,65MM AEMCO CC12  SÃO FRANCISCO  1 

6000003  ZZABRACADEIRA A1020 U SP 1"  SÃO FRANCISCO  152 

6000589  ZZANEL ELAST EXT 20MM E‐20 SEEGER  SÃO FRANCISCO  10 

4029121  PELICULA PROT DRAGER 3310187  SÃO FRANCISCO  128 

6037884  ZZBOTA OPER UNI PVC PT CANO LG 45  SÃO FRANCISCO  5 

6007664  LUVA SEG NYL RES FORRO INT MANTA TERMICA  SÃO FRANCISCO  2 

6005725  ZZELETRODO SOLDA E10UM65GRZ 2,5MM  SÃO FRANCISCO  80 

6005784  ZZELETRODO SOLDA E10 UM 60 R 3,25MM  SÃO FRANCISCO  80 

6005826  ZZELETRODO SOLDA NCS 100 ST 4MM  SÃO FRANCISCO  20 

7301316  SACO R‐GR PP C/IMP COST 50KG 90X60CM  SÃO FRANCISCO  6 

4024648  POLIA ALUM RAIADA 2 CANAIS B 260X70MM  SÃO FRANCISCO  3 

4008323  ENGRENAGEM FREZ ASA 60 15D F25MM  SÃO FRANCISCO  1 

8109155  CABO SENS DIREC TRIMBLE 67034BR  SÃO FRANCISCO  1 

6032149  KIT CONEX TRIMBLE KITCONVALTRABH180BR  SÃO FRANCISCO  1 

8029818  NIPLE C/PORC BOZZA 12087 GENUINO  SÃO FRANCISCO  1 

4015441  ROSETA MARQUES MC100130  SÃO FRANCISCO  20 

4007052  DEFLETOR DEVILBISS BSGB5  SÃO FRANCISCO  30 

4000761  ANEL O DEVILBISS BSS601011  SÃO FRANCISCO  4 

6002507  BICO CORTE 1,0MM AIR LIQ CP40R/CP100R  SÃO FRANCISCO  28 

6018293  GUIA ESP EUTECTIC 712639  SÃO FRANCISCO  2 

4024326  ENGRENAGEM MOT EUTECTIC 700723  SÃO FRANCISCO  1 

4012663  ZZMANOMETRO RT 4" 0‐50 KGF/CM2 1/2  SÃO FRANCISCO  5 

4012587  ZZMANOMETRO RT 100MM 0‐2KGF/CM2 1/2"N  SÃO FRANCISCO  4 

4012603  ZZMANOMETRO RT 150MM 0‐2KGF/CM2 1/2"BS  SÃO FRANCISCO  4 

4023294  VOLTIMETRO A F‐MOV 0~500V 144X144MM  SÃO FRANCISCO  1 

4080200  AMPERIMETRO PAINEL ANA FM CA 0~2500/5000  SÃO FRANCISCO  1 

4000438  AMPERIMETRO PAINEL ANA FM CA 0~400A  SÃO FRANCISCO  1 

4000437  AMPERIMETRO PAINEL ANA FM CA 0~300A  SÃO FRANCISCO  1 

4071016  AMPERIMETRO PAINEL 90X90MM 1000/5A  SÃO FRANCISCO  2 

4012623  ZZMANOMETRO RT 2.1/2" 0‐200KGF/CM2 1/4N  SÃO FRANCISCO  1 

4012514  ZZMANOMETRO ANG 1.1/2" 0‐60LBS 1/8"NPT  SÃO FRANCISCO  5 

4020914  TERMOMETRO INDL NPT1/2" 0~150ºC  SÃO FRANCISCO  1 

4007876  ELEMENTO ELAS VETEK SN260  SÃO FRANCISCO  1 

4023252  VIDRO VISOR RET BORO 34X340X17MM  SÃO FRANCISCO  4 

4011616  VIDRO VISOR CIR CRI 220X15,87MM  SÃO FRANCISCO  7 

4001438  BICO PULVERIZADOR CONE CH A303 1/2"  SÃO FRANCISCO  5 

4000385  AMORTECEDOR MAUSA 500179  SÃO FRANCISCO  7 

4019571  SUPORTE DIR F.F 8220 P650  SÃO FRANCISCO  1 

4015013  PORCA FIX BOSCH 1603345025  SÃO FRANCISCO  8 

4006616  COSSINETE 00‐R/12‐R BSPT 3/4" 4PC  SÃO FRANCISCO  1 

4001346  BEDAME 6X7/8"  SÃO FRANCISCO  2 

4001345  BEDAME RET HSS 12%CO 5/8X1/8X6"  SÃO FRANCISCO  3 

4013879  PASTILHA MD 80‐W‐N‐M‐NM4 8‐4‐0,8MM  SÃO FRANCISCO  12 

8018320  ELEMENTO FILTR OLE MANN W92031  SÃO FRANCISCO  1 



 
4007928  ELEMENTO FILTR OLEO METAL ACOPLAST B1001  SÃO FRANCISCO  1 

4010603  IGNITOR LAMP VAP SOD INT 400W  SÃO FRANCISCO  2 

8007131  BICO PULVERIZADOR CONE OC A303 3/8"  SÃO FRANCISCO  10 

4106741  JUNTA ESP CIR A304 298MM 298X190MM 300#  SÃO FRANCISCO  3 

4081531  JUNTA VEDACAO AI304‐GRAF 5"  SÃO FRANCISCO  2 

4107995  JUNTA ESP CIR A304 190MM 190X166MM 300#  SÃO FRANCISCO  3 

6014455  TERMINAL PRE FG90 1.7/8"‐12FPP  SÃO FRANCISCO  4 

6014645  TERMINAL HIDR RT AEROQUIP TTC 1B24FJ24  SÃO FRANCISCO  5 

6007075  COTOVELO COMPR MC90 NPTF 1/4X10MM  SÃO FRANCISCO  3 

6006251  EXTENSAO FEM PARKER 0255252005  SÃO FRANCISCO  1 

8027377  MANGUEIRA FLEX MB 3454200048  SÃO FRANCISCO  2 

4010854  JUNTA BORR EPDM 4LN 5/8X120MMX260MM  SÃO FRANCISCO  14 

4011116  KIT REP CIL NORGREN 980002  SÃO FRANCISCO  4 

8025884  LENTE AUTOM VM RD  SÃO FRANCISCO  13 

8035982  PORTA FUS MF 022754T2  SÃO FRANCISCO  1 

4062177  ISOLADOR BUJAO PREMIX 50X45MM 1/4"  SÃO FRANCISCO  4 

4003760  CADARCO ALGODAO 3/4X50M  SÃO FRANCISCO  12 

6006297  FACA JG ACZ 1090 24X100MM ABERT 10MM  SÃO FRANCISCO  10 

6019315  FACA  ACZ 1070 24X100X18MM DIGESTOR SUEG  SÃO FRANCISCO  8 

4046644  MOLA COMP ESP A5160 140X360MM 21MM  SÃO FRANCISCO  1 

4008313  ENGRENAGEM DUPLEX 17D P1 151X50MM  SÃO FRANCISCO  1 

8027102  MANGUEIRA MWM 922508610094  SÃO FRANCISCO  2 

4010533  HELICE WEG WEG  SÃO FRANCISCO  9 

4011574  LENTE CIRC VIDRO TEMP LUNETA 16X130MM  SÃO FRANCISCO  8 

6004078  CARTUCHO JATO TINTA COL 11ML HP 51649N  SÃO FRANCISCO  6 

6004108  ZCARTUCHO JATO TINTA PT 42ML HP 51645A  SÃO FRANCISCO  4 

4106621  CRISTAL REC FOX FOX540L8  SÃO FRANCISCO  3 

4106622  CRISTAL TRANS FOX FOX540L8  SÃO FRANCISCO  3 

6012100  REBITE MAC RED AC/SAE1006 7,9MM 19MM  SÃO FRANCISCO  155 

6014730  TINTA AUTENT/DAT JAT TINT PT AL  SÃO FRANCISCO  4 

6006970  IMPERMEABILIZANTE UMID HENLAU HL1000 50L  SÃO FRANCISCO  100 

4044207  ZZSEDE VALV BORB 8" PTFE  SÃO FRANCISCO  4 

4016093  KIT REPARO CIL PNEUM 35208000  SÃO FRANCISCO  6 

4018944  SEDE VALV BORB 10" EPDM  SÃO FRANCISCO  4 

6012314  REPARO VED CIL PARKER 51008001  SÃO FRANCISCO  2 

6012728  RETENTOR NBR 101,2X136,52X17,5MM  SÃO FRANCISCO  2 

6012775  RETENTOR DICETTI 1352A/2/BA  SÃO FRANCISCO  10 

4083291  RETENTOR NBR 200X168X13MM  SÃO FRANCISCO  2 

6013394  ZZRETENTOR NBR 57,2X80,15X13MM SABO 0073  SÃO FRANCISCO  8 

6013316  RETENTOR NBR 73X47,7X12MM  SÃO FRANCISCO  9 

6012769  RETENTOR DICETTI 0169A/2/BA  SÃO FRANCISCO  3 

4107931  RETENTOR NBR 47X90X10MM  SÃO FRANCISCO  1 

6013504  ZZRETENTOR NBR 80X110X12MM 46772RR2  SÃO FRANCISCO  5 

6012435  ZZRETENTOR NBR 17X35X10MM LI 00828BR  SÃO FRANCISCO  6 

6012448  RETENTOR NBR 19X9,5X6,3MM  SÃO FRANCISCO  2 



 
6012466  ZZRETENTOR NBR 35X44,50X7MM LI 01502BA  SÃO FRANCISCO  3 

6013197  ZZRETENTOR NBR 35X58X10MM L 01551BR  SÃO FRANCISCO  3 

6013292  RETENTOR NBR 79,9X44,4X11,9MM  SÃO FRANCISCO  2 

6013112  ZZRETENTOR NBR 28,6X38,1X6,5MM 01964BA  SÃO FRANCISCO  1 

8007085  BICO LUCAS CAV 6801027  SÃO FRANCISCO  4 

8014477  CONEXAO MAO AMIGO S ‐ SERVICO  SÃO FRANCISCO  13 

8005162  ARRUELA ENC FNV 5084033865  SÃO FRANCISCO  1 

4071963  TINTA LIQ PT IMPRESS INKJET MARKEM 9154  SÃO FRANCISCO  31 

8019563  ENGRENAGEM PAR COMMERCIAL 3132925250  SÃO FRANCISCO  4 

8060496  PINO CABEC SANTAL 191802000L  SÃO FRANCISCO  3 

8120266  BUCHA ART ANTONIOSI 711008  SÃO FRANCISCO  10 

8021017  FILTRO SANTAL 10370060  SÃO FRANCISCO  5 

8037545  REPARO CASE 00948734  SÃO FRANCISCO  3 

6003586  CALCA MASC SEMI BAG JEANS AZ N.54 PREST  SÃO FRANCISCO  25 

4036741  DIAFRAGMA ATUA DGD3500143 FOXWALL  SÃO FRANCISCO  3 

4022985  VALVULA SOLEN DIR 3/2 NPT 1/4"  SÃO FRANCISCO  10 

4103117  VALVULA SOLEN PIL 5/2 G3/8" 12MM  SÃO FRANCISCO  2 

4022412  VALVULA CONTR MAUSA 112473  SÃO FRANCISCO  6 

4016209  REPARO VALV SOL 8222B004 FV170190  SÃO FRANCISCO  1 

4007106  DIAFRAGMA ATUAD HITER 188  SÃO FRANCISCO  3 

4016216  REPARO VALV SOL 8222A049 FV170190  SÃO FRANCISCO  2 

4069593  VALVULA BORB AUT A126B 150PSI 1"  SÃO FRANCISCO  2 

4022841  VALVULA RETENCAO PRT SP B62C836 1.1/2"  SÃO FRANCISCO  1 

 


